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2
Answer any ONE question fram Group -A and any ONE question from Group - B from each unit.
UNIT -1
Group - A
1. {a) Answer the following : 4x2
i) What is relational logic ?
i} What is transitive relation ?
i} What is non-transitive relation ?
iv) What is the status of wand  in case of arguments involving relation ?
(b} Symbolize the following sentences in each case using the indicated symbols . 4x2
i) Dead men tell no tales. {Dx : xis dead, Mx : xis a man, Tx : xis a tale, Txy : x telis y)
fi) A dead lion is more dangerous than a live dog. (Lx : x is a lion , Ax : x s alive,
Dx :xis a dog, Dxy : % is more dangerous than y)
iii) Uneasy lies the head that wears a crown. ( Ux : x lies uneasy , Hx : x is a head )
Cx:xisacrown, Wxy : x wears y).
iv) Any man who hates children and dogs cannot be all bad . (Mx : x is a man » Cx i xis achild,
Dx :xis dog, Bx:xishad, Hxy : x hates y}
2. Canstruct a formal proof of validity for each of the following : 4x4
M0 [3v) Byx 2 (2) Bzx] / . (y) {2} (Byz > Bay)
i1} (3y) [Hx {y} {ly 2 dxy} ]/ . (x} (Hx D Ix) o {3y (v - Jyy)
it} (x) [ Mx 2 {y} (Ny > Oxy} ]
() [Px > () (Gxy 2> Qy )] /.. (3x) (Mx. Px) 5 ) (Ny > Qy)
i (x) [ Ex 2 fy) (Fy 2 Gxy) |

(3) [Ex. (Qy)~Gxy) /.- {Ix) ~ Fx
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Group—-B

3. Prove the following :
{3x) {3y} Axy D (3y) (3x) Axy 4

4. What is binary relation ? Give example.Write the notation of each binary relation 1+3

UNIT-H

Group - A

5. Answer the following questions with suitable example .
{a) i) What is ordered couple ? 4x2=8
il What is set ?
iii) What is the difference between ordered couple and set ?
iv) How do you distinguish a set from a relation ?
{b) Leta;={2,3}
A; = {4}
R={<23>,<3,45}
i) Is R a subset of the Cartestan product of A, x A,? 4

ii)Is D {R)asubsetofA, , 2

it} Is C (R) a subset of A, 2
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6. a) Explain the following statement :-

“\acuaously every asymmetric relation is also ankisymmetric T

b) What is equivalence relation ? Answer with example and symbolic notations .

c) Let A={1,2}
R={<1,1>,<1+1,2> <1,2>,<1+1,1>

Analyse when R is reflexive , symmetric and transitive in set A .

d) Give an example of a family relationship which is both transitive and intransitive .

Group—B

7. What does it mean that * A Relation R is connected in set A ? Explain .

8. Define intransitive relation with examples and symbolic representations

( Internal Assessment : 10 Marks )
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